


 



 



Objective Paper

1. nzoksa esa Å"ek dk loksZÙke pkyd gS
(a) ty (b) edZjh
(c) bZFkj (d) ,sYdksgkWy

2. ok;qe.My&dk tks Lrj jsfM;ks rjaxksa dks okil iF̀oh ij ijkofrZr
dj nsrk gS] mls dgrs gSa
(a) lerkie.My (b) {kksHklhek
(c) vk;u e.My (d) {kksHke.My

3. fdlh oLrq dk Hkkj lcls vf/kd gksrk gS
(a) ok;q esa (b) ty esa
(c) gkbMªkstu esa (d) fuokZr esa

4. lw;Z ftl xq#Roh; cy ds lkFk i`Foh dks vkdf"kZd djrk gS] og

(a) ml cy ls de gS ftlls lw;Z dks i`Foh vkdf"kZd djrh
gS

(b) mruk gh gS ftlls lw;Z dks i`Foh vkdf"kZd djrh gSA

(c) ml cy ls vf/kd gS ftlls lw;Z dks i`Foh vkdf"kZr
djrh gS

(d) o"kZ Hkj cnyrk jgrk gS

5. 25 kg ds Hkkj dks Hkwfe ls 1mdh Å¡pkbZ ij idM+s j[kus esa fd;k
tkus okyk dk;Z gS
(a) 'kwU; (b) 25 J

(c) 2500 J (d) mijksDr esa ls dksbZ ugha

6. ;fn ok;qe.My u gksrk rks fnu dh yEckbZ
(a) ?kV tkrh (b) vizHkkfor jgrh
(c) c<+ tkrh (d) yxHkx vk/kh gks tkrh

7. ftu&cPpksa dks] fo'ks"kr% if'peh ns'kksa esa] cgqr de /kwi feyrh
gS] os fdl jksx ls xzLr jgrs gS
(a) lw[kk jksx ¼fjdsV~l½ (b) RoD'kksFk
(c) LdohZ (d) ca/;rk

SSC JEn 2007
Objective Paper

1. The best conductor of heat among liquids is

(a) water (b) mercury

(c) ether (d) alcohol

2. The layer of the atmosphere which reflects ratio

waves back to the earth is called

(a) Stratosphere (b) Tropopause

(c) Ionosphere (d) Troposphere

3. An object weigth maximum in

(a) air (b) water

(c) hydrogen (d) vacuum

4. The gravitational force with which the sun attracts

the earth

(a) is less than the force with which the earth

attracts the sun

(b) is the same as the force with which earth

attracts the sun

(c) is more than the force with which the earth

attracts the sun

(d) varies throughout the year

5. The work done in holding a weight of 25 kg at a

height of 1 m above the ground is

(a) Zero (b) 25 J

(c) 2500 J (d) None of the above

6. If there were no atmosphere the length of the day

would

(a) Decrease (b) Remain unaffected

(c) Increase (d) Be almost half

7. Children specially in western country, who receive

very little sunshine suffer from

(a) Rickets (b) Dermatitis

(c) Scurvy (d) Sterility
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8. izkÑfrd jcM+ dks n`< vkSj vf/kd mNyus okyk cukus ds fy,
dkSu lk inkFkZ feyk;k tkrk gS
(a) ikWfyFkhu (b) Liat
(c) LyQj (d) Dyksjhu

9. ekuo 'kjhj esa vf/kdre ek=k gksrh gS
(a) izksVhu dh (b) ty dh
(c) olk dh (d) IykTek dh

10. tBj ;k 'kjhj ds vU; Hkhrjh Hkkxksa dh tk¡p ds fy, iz;ksx dh
tkus okyh ,d rduhd] ,aMksLdksih] fdl ifj?kVuk ij vk/kkfjr
gS\
(a) iw.kZ vkUrfjd ijkorZu
(b) O;frdj.k
(c) foorZu
(d) /kzo.k

11. ^jftLVj* mPp xfr Le`fr rÙo gSa] tks fLFkr gksrs gSa
(a) Le`fr esa (b) lh-ih-;w- esa
(c) vkb-@vks- ;wfuV esa (d) ROM ;k EPROM esa

12. o;Ld ekuo dadky esa gksrh gS
(a) 204 vfLFk;k¡ (b) 206 vfLFk;k¡
(c) 208 vfLFk;k¡ (d) 214 vfLFk;k¡

13. bf.M;k 2020 : , fotu QkWj n U;w feysfu;e dk ys[kd gS
(a) MkW- ,- ih- ts- vCnqy dyke
(b) ekbdy LisUl
(c) foØe lsB
(d) oh- ,l- uk;iky

14. 1905 esa caxky&foHkktu ds QyLo:i ,d vkUnksyu vkxs c<+k
Fkk] ftldk uke gS
(a) oans ekrje~ (b) Lons'kh
(c) iw.kZ Lojkt (d) Hkkjr NksM+ks

15. eqxy iz'kklu dks fnYyh esa lqYrkuksa ls fHkUu fopkjksa rFkk fl)kUrksa
ij LFkkfir djus dk dke eq[;r% fdldk Fkk
(a) vdcj (b) ckcj
(c) tgk¡xhj (d) 'kkgtgk¡

8. The substance that is added to make natural rubber

strong and more bouncy is

(a) Polythene (b) Sponge

(c) Sulpher (d) Chlorine

9. The human body contains the maximum amount

of

(a) proteins (b) water

(c) fats (d) plasma

10. Endoscopy, a technique used to explore the

stomach or other inner parts of the body, is based

on the phenomenon of

(a) total internal reflection

(b) interference

(c) diffraction

(d) polarisation

11. Registers are high-speed memory elements,

situated in the

(a) Memory (b) CPU

(c) I/O unit (d) ROM or EPROM

12. The adult human skeleton consists of

(a) 204 bones (b) 206 bones

(c) 208 bones (d) 214 bones

13. India 2020 : A vision for the New Millennium has

been written by

(a) Dr. A.P.J. Abdul Kalam

(b) Dichael Spence

(c) Vikram Seth

(d) V.S. Naipaul

14. The partition of Bengal in 1905 was responsible

for the growth of a movement known as

(a) Vande mataram (b) Swadeshi

(c) Poorna Swaraj (d) Quite India

15. The establishment of the Mughal administration on

the ideas and principles different from Sultans of

Delhi, was mainly the work of

(a) Akbar (b) Babar

(c) Jahangir (d) Shah Jahan
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16. fuEufyf[kr esa ls fdl in dk mYys[k Hkkjr ds lafo/kku esa ugh
gS\
(a) yksd lHkk dk mik/;{k
(b) jkT; lHkk dk mik/;{k
(c) jkT; fo/kku lHkkvksa dk mik/;{k
(d) mi&iz/kkuea=h

17. yksd lHkk vkSj jkT; lHk dh la;qDr cSBdks dh v/;{krk dkSu
djrk gS\
(a) yksd lHkk dk v/;{k
(b) jkT; lHkk ds v/;{k ds :i esa mi&jk"Vªifr
(c) jk"Vªifr
(d) jk"Vªifr }kjk ukfer dksbZ ofj"B laln lnL;

18. izfrpØokr ds dsUnz dk vfHky{k.k gS
(a) U;wu nkc
(b) 'kkUr {ks=
(c) mPp nkc
(d) vfr U;wu nkc

19. jk"Vªh; leqnzfoKku laLFkku fLFkr gS
(a) psUubZ esa (b) esaxywj esa
(c) i.kth esa (d) iq.ks esa

20. rwrhdksfju dk eRL;u iÙku fLFkr gS
(a) dksad.k rV ij
(b) ekykckj rV ij
(c) mÙkj ljdklZ rV ij
(d) dksjkse.My rV ij

21. fuEufyf[kr esa ls dkSu&lk ns'k ukfj;y dk lcls cM+k mRiknd
gS\
(a) Hkkjr (b) rUtkfu;k
(c) baMksusf'k;k (d) fQfyihUl

22. 44570 Vu ds foeku okgd ,sMfejy xks'kZdkso dks Hkkjr vkSj
:l gLrk{kfjr 6,900 djksM+ #- dh iSdst Mhy ds vUrxZr
Hkkjr ds fy, lsojM~foLuksd esa vuq:ikUrfjr ¼jsVªksfQV½ fd;k
tk jgk gSA mls fn;k x;k u;k uke gS
(a) vkbZ- ,u- ,l- v'kksd
(b) vkbZ- ,u- ,l- vdcj
(c) vkbZ- ,u- ,d- foØekfnR;
(d) vkbZ- ,u- ,l- leqnzxqIr

16. Which of the following posts is not mentioned in

the Constitution of India?

(a) The Deputy Speaker of the Lok Sabha

(b) The Deputy Chairman of the Rajya Sabha

(c) The Deputy Speakar of the State Assemblies

(d) The Deputy Prime Minister

17. Who presides over the Joint Sittings of the lok

Sabha and Rajya Sabha?

(a) The Speaker of the Lok Sabha

(b) The Vice president as Chairman of the Rajya

Sabha

(c) The Prisident

(d) A senior MP nominated by the President

18. The centre of an anticyclone is characterised by

(a) low pressure

(b) calm area

(c) high pressure

(d) very low pressure

19. National Institute of Oceanography is located at

(a) Chennai (b) Manglore

(c) Panaji (d) Pune

20. The fishing port of Tuticorin is located on

(a) Konkan coast

(b) Malabar coast

(c) North circars coast

(d) Coromandel coast

21. Which of the following countries is the highest

coconut producer in the world?

(a) India (b) Tanzania

(c) Indonesia (d) Philippines

22. The 44570 tonne aircraft-carriage admiral garshkav

being retrofitted severd Visnok for India under the

Rs. 6,900 crore package deal signed between India

and Russia stand rechristened as

(a) INS Ashoka

(b) INS Akbar

(c) INS Vikramaditya

(d) INS Samudra Gupta
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23. nloha iapo"khZ; ;kstuk esa ldy ?kjsyw mRikn esa okf"kZd o`f) nj
dk y{; D;k gS \
(a) 7.5 izfr'kr (b) 8 izfr'kr
(c) 8.5 izfr'kr (d) 9 izfr'kr

24. fo'o O;kikj dsUnz ij vkØe.k ds ckn vkardokn dks fu;af=r
djus ds fy, ;w- ,l- }kjk dkSu&lk dk;ZØe 'kq: fd;k x;k Fkk
(a) vkWijs'ku fMfyojsal
(b) vkWijs'ku buQkbukbV tfLVl
(c) vkWijs'ku ,aM~;ksfjax ÝhMe
(d) vkWijs'ku dksczk

25. tqykbZ 2006 esa cfyZu ¼teZuh½ esa vk;ksftr 2006 QhQk ¼QMªs'ku
baVjus'kuy fM QqVcky ,lksfl,'ku½ fo'o di dk Qkbuy
fuEufyf[kr esa ls fdl ns'k us thrk Fkk \
(a) Ýkal (b) czkthy
(c) bVyh (d) teZuh

26. uhps fn[kk, x, ifjiFk ds fy, oksYVrk V
1
gksxh

V110A 5A

(a) 2.64 V (b) 3.64 V
(c) 6.0 V (d) 9.1 V

27. V = 100 + 25 sin 3t + 10 sin 5t }kjk nh xbZ oksYVrk
dk izHkkoh eku gksxk
(a) 100 V
(b) 101.8 V
(c) 110 V
(d) 135 V

28. fdlh ;wfDr dh oksYVrk V vkSj djUV i gS V = 100 sin 377t,

i = 10 sin(377 t + 30°) okVekih }kjk n'kkZ;h tkus okyh
'kfDr P gksxh
(a) 1000 W (b) 774 W
(c) 500 W (d) 433 W

23. What annual GDP growth rate is aimed at in the

Tenth five year plan ?

(a) 7.5 Percent (b) 8 Percent

(c) 8.5 Percent (d) 9 Percent

24. What programme was started by US to contain

terrorism after attack on world trade centre

(a) Operation Deliverance

(b) Operation infinite Justice

(c) Operation Enduring freedom

(d) Operation Cobra

25. Which of the following countries won the final of

the 2006 FIFA (Federation International de football

Association) world cup held in Berline (Germany)

July, 2006 ?

(a) France (b) Brazil

(c) Italy (d) Germany

26. For the circuit shown below voltage V
1
 will be

V110A 5A

(a) 2.64 V (b) 3.64 V

(c) 6.0 V (d) 9.1 V

27. The effective value of voltage given by

V = 100 + 25 sin 3t + 10 sin 5t will be

(a) 100 V

(b) 101.8 V

(c) 110 V

(d) 135 V

28. The voltage V and current i of a device are

V = 100 sin 377t, i = 10 sin (377 t + 30°)

The power P indicated by wattmeter will be

(a) 1000 W (b) 774 W

(c) 500 W (d) 433 W
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29. fdlh izR;kofrZ= ds fy, 'kwU; xq.kd fof/k dk iz;ksx lkekU;r%
D;k Kkr djus ds fy, fd;k tkrk gS
(a) izR;kofrZ= dh n{krk
(b) izR;kofrZ= dh rqY;dkfydk izfrck/kk
(c) izR;kofrZ= dk oksYVrk fu;eu
(d) mijksDr lHkh

30. nks izR;kofrZ= AvkSj B izsjf.kd yksM dks leku :i ls ck¡V jgSA
;fn Ads mÙkstu dks c<+k fn;k tk,] rks D;k gksxk\
(a) A }kjk nh tkus okyh djUV c<+ tk,xh vkSj B dh ?kV

tk,xh
(b) A dh djUV ?kV tk,xh vkSj B dh c<+ tk,xh
(c) nksuksa yksM dks cjkcj ck¡Vrs jgsaxs
(d) mijksDr esa ls dksbZ Hkh ugha

31. rqY;dkfydk eksVj ds ekeys esa izfr'kr li.kZ gksrk gS
(a) 1% (b) 100%

(c) 0.5% (d) zero

32. rqY;dkfydk eksVj dk cy vk?kw.kZ dks.k gksrk gS
(a) og dks.k ftlls eksVj rqY;dkfydk xfr ls ihNs jg tkrh

gS
(b) 'kwU; yksM ls iw.kZ yksM rd i'p~rk dks.k
(c) ?kw.khZ LVsVj ¶yDl vkSj jksVj iksyksa ds chp dks.k
(d) mijksDr esa ls dksbZ ugha

33. 4-iksy okyh izsj.k eksVj ds fy, fuEufyf[kr esa ls dkSu&lk rpm

vf/kd mi;qZDr ekuk tkrk gS \

(a) 1485 rpm

(b) 1470 rpm

(c) 1440 rpm

(d) 1320 rpm

34. 3-Qst okyh izsj.k eksVj esa vf/kdre cy vk?kw.kZ fuHkZj djrk
gS
(a) iznk; oksYVrk ds oxZ ij
(b) vko`fÙk ij
(c) jksVj izsjd izfr?kkr ij
(d) mijksDr lHkh ij

29. Zero power factor method for an alternator is

generally used to determine

(a) efficiency of alternator

(b) synchronous impedance of alternator

(c) voltage regulation of alternator

(d) all of the above

30. Two alternators A and B are sharing the inductive

load equally. What will happen when the excitation

of A is increased?

(a) Current delivered by A will increase and B

will decrease

(b) Current of A will decrease & B will increase

(c) Both will continuous to share the load equally

(d) None of the above

31. The percentage slip in case of synchronous motor

is

(a) 1% (b) 100%

(c) 0.5% (d) zero

32. Torque angle of synchronous motor is

(a) Angle through which motor lags behind

synchronous speed

(b) Angle of lag from no load to full load

(c) Angle between rotating stator flux and rotor

poles

(d) None of the above

33. Which of the following is preferren rpm for 4-pole

induction motor ?

(a) 1485 rpm

(b) 1470 rpm

(c) 1440 rpm

(d) 1320 rpm

34. Maximum torque in a 3-phase induction motor

depends on

(a) Square of supply voltage

(b) Frequency

(c) Rotor inductive reactance

(d) All of the above
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35. 3-Qst] 441 V, 20 Hp izjs.k eksVj ds fy, iw.kZ&yksM djUV
gksxh] yxHkx
(a) 5 A (b) 15 A
(c) 25 A (d) 35 A

36. nks izsj.k eksVjksa ds lksikuh fu;a=.k esa fHkUu&fHkUu fdruh xfr;k¡
izkRi dh tk ldrh gS\
(a) 2 (b) 4
(c) 8 (d) 16

37. ,d lkoZf=d eksVj dks 220 V Mh-lh- ij Hkh pyk;k tk ldrk
gS vkSj 220 V ,dy&Qst ,-lh- ij HkhA nksuksa ekeyksa esa
fuEufyf[kr esa ls dkSu&lk cjkcj gksxk \
(a) izpkyu xfr
(b) 'kfDr fuxZe
(c) izpkyu xfr vkSj 'kfDr fuxZe
(d) mijksDr esa ls dksbZ Hkh ugha

38. ,d VªkalQkeZj dk iw.kZ yksM ij vf/kdre n{krk gksrk gS] tc ykSg
gkfu 800 okV gksA vk/ks yksM ij rkez gkfu gksxh
(a) 1600 W (b) 800 W
(c) 400 W (d) 200 W

39. fuEufyf[kr esa ls dkSu lh Hkkjr esa ,d ekud izs"kd oksYVrk ugha
gS \
(a) 33 kV (b) 66 kV
(c) 99 kV (d) 220 kV

40. 0.95 ds i'p~xkeh yksM 'kfDr xq.kd dk vk'k; gS izfr/kkrh 'kfDr
ek¡x
(a) 0.05 kVAR izfr kW dh
(b) 0.10 kVAR izfr kW dh
(c) 0.33 kVAR izfr kW dh
(d) 0.95 kVAR izfr kW dh

41. fuEufyf[kr esa ls fdl izØe esa vfuok;Z fn"V djUV
¼Mh-lh-½ dh t:jr gS\
(a) osfYMax (b) rkiu
(c) iz'khru (d) fo|qr&ysiu

42. LikV osfYMax e'khu dk vuqekfur 'kfDr xq.kkad gksrk gS
(a) 0.3 to 0.5 vxzxkeh (b) ,d
(c) 0.8 ia'p~xkeh (d) 0.3 to 0.5 i'p~xkeh

35. Full load, current for a 3-phase 440 Volt, 20 Hp

induction motor will be closer to

(a) 5A (b) 15A

(c) 25A (d) 35A

36. How many different speeds can be obtained in

cascade control of two induction motor?

(a) 2 (b) 4

(c) 8 (d) 16

37. A universal motor can be operated on 220V D.C.

as well as 220 V single-phase A.C. Which of the

following will be same in the two cases ?

(a) operating speed

(b) power output

(c) operating speed and power output

(d) none fo the above

38. A transformer has maximum efficiency at full load,

when iron losses are 800 watts. Copper losses at

half load will be

(a) 1600W (b) 800W

(c) 400W (d) 200W

39. Which of the following is not a standard

transmission voltage in India ?

(a) 33kV (b) 66kV

(c) 99kV (d) 220kV

40. A load power factor of 0.95 lagging implies reactive

power demand of

(a) 0.05 kVAR per kW

(b) 0.10 kVAR per kW

(c) 0.33 kVAR per kW

(d) 0.95 kVAR per kW

41. Which of the following processes essentially needs

direct current ?

(a) Welding (b) Heating

(c) Refrigeration (d) Electroplating

42. The power factor of a spot welding machine is

expected to be around

(a) 0.3 to 0.5 leading (b) unity

(c) 0.8 lagging (d) 0.3 to 0.5 lagging
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43. ghfy;e vkdZ osfYMax esa bySDVksM cuk gksrk gS
(a) dkWij dk (b) dkcZu dk
(c) e`nq LVhy dk (d) VaxLVsu dk

44. Mk;useksehVj izdkj ds okVekih dk iz;ksx fd;k tk ldrk gS
(a) dsoy DC ij

(b) dsoy AC ij

(c) dsoy fn"VÑr AC ij

(d) AC vkSj DC nksuksa ij

45. fuEufyf[kr esa dkSu&lk eki;a= lekdyu izdkj dk eki;a= gS\
(a) okVekih
(b) ÅtkZekih
(c) 'kfDr xq.kd ekih
(d) mijksDr esa ls dksbZ Hkh ugha

46. mPp Q-xq.kd okys izsjdRo dks ukius ds fy, fuEufyf[kr esa ls
dkSu&lk ,-lh- lsrq cuk;k tkrk gS\

(a) gs lsrq

(b) eSDlosy lsrq

(c) MslkWVh lsrq

(d) ohu lsrq

47. nks Mh-lh- Js.kh eksVjksa dks cy&vk?kw.kZ T iSnk djus ds fy, Js.kh
esa la;ksftr fd;k x;k gSA vc ;fn eksVjksa dks ik'oZ esa la;kstd
fd;k tk,] rks cuus okyk cy&vk?kw.kZ gksxk
(a) T/4 (b) T/2
(c) 2T (d) 4T

48. lcls [kjkc xfr fu;a=.k fdl eksVj dh gksrk gS\
(a) osHksnh feJ eksVj
(b) ;ksxkRed@lap;h feJ eksVj
(c) 'kaV eksVj
(d) Js.kh eksVj

49. Øsuksa vkSj gkWbLVksa ds fy, lkekU;r% fdl Mh-lh- eksVj dks ialn
fd;k tkrk gS \

(a) Js.kh eksVj

(b) 'kaV eksVj

(c) lap;h@;ksxkRed feJ eksVj

(d) foHksnh feJ eksVj

43. In helium arc welding the electrode is made of

(a) copper (b) carbon

(c) mild steel (d) tungsten

44. A dynamometer type wattmeter can be used on

(a) DC only

(b) AC only

(c) Rectified AC only

(d) AC as well as DC

45. Which of the following instruments is an integrating

type instrument ?

(a) Wattmeter

(b) Energy meter

(c) Power factor meter

(d) None of the above

46. Which of the following A.C. bridges is preferred

for the measurement of inductance having high

Q-factor ?

(a) Hays bridge

(b) Maxwell bridge

(c) Desauty bridge

(d) Wien bridge

47. Two D.C. series motors are connected in series to

produce a torque T. Now if the motors are

connected in parallel, the torque produced will be

(a) T/4 (b) T/2

(c) 2T (d) 4T

48. Which motor has the poorest speed control ?

(a) Differentially compound motor

(b) Comulatively compound motor

(c) Shunt motor

(d) Series motor

49. Which D.C. motor is generally preferred for cranes

and hoists ?

(a) Series motor

(b) Shunt motor

(c) Cumulatively compound motor

(d) Differentially compound motor
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50. T;ksfr QyDl dk ekud gS
(a) okV (b) okV@eh2

(c) Y;wesu (d) Y;wesu@eh2

51. ;fn dks"k djaV 2000 ,sfEi;j gks] fjys lsfVax 50% ij gks vkSj

CT vuqikr
400

5
, gks rks Iyx lsfVax xq.kd gksxk

(a) 25 ,sfEI;j (b) 15 ,sfEi;j
(c) 50 ,sfEi;j (d) mijksDr esa ls dksbZ ugha

52. ;fn HRC ¶;wt vkSj ifjiFk fo;kstd ds la;kstu dk iz;ksx
fdk; tk,] rks ifjiFk fo;kstd dke djrk gS
(a) fuEuvf/kHkkj /kkjk ds fy,
(b) y?kqiFk /kkjk ds fy,
(c) lHkh vilkekU; /kkjkvksa ds vUrxZr
(d) O;okgj esa la;kstu dk iz;ksx dHkh ugha fd;k tkrk

53. ;kaf=d Hkkj ds fy, iz;qDr rqY;dkfydk eksVj dh rqyuk esa
rqY;dkfydk Qst vk'kksf/k= esa
(a) cM+h 'kk¶V vkSj rst xfr gksrh gS
(b) NksVk 'kk¶V vkSj rst xfr gksrh gS
(c) cM+h 'kk¶V vkSj de xfr gksrh gS
(d) NksVh 'kk¶V vkSj de xfr gksrh gS

54. ,d 100V/10V, 50 VA VªkalQkWeZj dks 100V/110V

vkWVksVªkalQkWeZj esa :ikUrfjr fd;k x;k gSA vkVksVªkalQkWeZj dh
jsfVax gksxh
(a) 550 VA (b) 500 VA
(c) 110 VA (d) 100 VA

55. izsj.k tujsVj dkSulh fLyi ds chp dke djrk gS
(a) 1 < s < 2 (b) 0.1 < s < 1.0

(c) s < 0.0 (d) mijksDr esa ls dksbZ Hkh ugha

56. Egks fjys dk iz;ksx vke rkSj ij fdldh j{kk ds fy, fd;k
tkrk gS
(a) yEch lapj.k ykbuksa dh
(b) e/;e lapj.k ykbuksa dh
(c) y?kq lapj.k ykbuksa dh
(d) yEckbZ dksbZ dlkSVh ugha gS

57. rfM+r~ fujks/kd dks vDlj fdlds fudV LFkkfir fd;k tkrk gS
(a) clckj (b) VªkalQkWeZj
(c) ifjiFk fo;kstd (d) foyxd

50. The unit of luminous flux is

(a) watt (b) watt/m2

(c) lumen (d) lumen/m2

51. If the fault current is 2000 amp, the relay setting at

50% and CT ratio is
400

5
, then the plug setting

multiplier will be

(a) 25amp (b) 15amp

(c) 50amp (d) None of the above

52. If a combination of HRC fuse and circuit breaker

is used, the circuit breaker operates

(a) for low overload currents

(b) for short-circuit current

(c) under all abnormal currents

(d) combination is never used in practice

53. A synchronous phase modifier as compared to a

synchronous motor used for mechanical load has

(a) Larger shaft and higher speed

(b) Smaller shaft and higher speed

(c) Larger shaft and smaller speed

(d) Smaller shaft and smaller speed

54. A 100V/10V, 50VA transformer is converted to

100V/110V autotransformer, the rating of the

auto-transformer will be

(a) 550 VA (b) 500 VA

(c) 110 VA (d) 100 VA

55. Induction generator works between the slip of

(a) 1 < s < 2 (b) 0.1 < s < 1.0

(c) s < 0.0 (d) None of the above

56. Mho relay is normally used for the protection of

(a) Long transmission lines

(b) Medium length lines

(c) Short length lines

(d) No length criterion

57. A lightning arrestor is usually located nearer to

(a) busbar (b) transformer

(c) circuit breaker (d) isolator
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58. For traction work, which motor is preferred?

(a) Synchronous motor

(b) Three phase induction motor

(c) DC series motor

(d) Universal motor

59. Which motor has widest variety of methods for

speed control ?

(a) DC shunt motor

(b) Synchronous motor

(c) Slip ring induction motor

(d) Scharge motor

60. Which of the following electric discharge lamps

gives highest lumens per watt ?

(a) Sodium vapor lamp

(b) Neon lamp

(c) Mercury vapor lamp at low pressure

(d) Mercury vapor lamp at high pressure

61. The function of choke in the flourescent tube circuit

is to

(a) Eliminate radio interference

(b) Reduce noise

(c) Reduce flicker

(d) Initiate the arc and stabilise it

62. Electric power for illumination in locomotive is

provided by

(a) Main stream engine

(b) Small turbo generator

(c) Battery

(d) Solar cells

58. d"kZ.k dk;Z ds fy, dkSu&lh eksVj ialn dh tkrh gS\
(a) rqY;dkfydk eksVj
(b) rhu&Qst izjs.k eksVj
(c) Mh-lh- Js.kh eksVj
(d) lkoZf=d eksVj

59. fdlh eksVj esa xfr fu;a=.k ds fy, lcls vf/kd izdkj dh
fof/k;k¡ gksrh gS\
(a) Mh-lh 'kaV eksVj
(b) rqY;dkfydk eksVj
(c) laihZ&oy; izsj.k eksVj
(d) Jkxs eksVj

60. fuEufyf[kr fo|qr~ foltZu ySEiksa esa ls izfr okV lcls vf/kd
Y;wesu dkSu lk nsrk gS\
(a) lksfM;e&ok"I ySEi
(b) fu;kWu ySEi
(c) U;wu nkc ij edZjh ok"i ySEi
(d) mPp nkc ij edZjh&ok"i ySEi

61. izfrnhfIr'ky V~;wc ifjiFk esa pksd dk dke gS
(a) jksfM;ks O;frdj.k dks nwj djuk
(b) 'kksj de djuk
(c) LQwj.k de djuk
(d) vkdZ dks 'kq: djuk vkSj bls fLFkj j[kuk

62. yksdkseksfVo esa iznhfIr ds fy, fo|qr 'kfDr miyC/k djkbZ tkrh
gS
(a) eq[; Hkki batu }kjk
(b) y?kq VckZs&tujsVj }kjk
(c) cSVjh }kjk
(d) lkSyj lsyksa }kjk
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1 B 2 C 3 D 4 C 5 D

6 B 7 A 8 C 9 B 10 A

11 B 12 B 13 A 14 B 15 A

16 D 17 A 18 C 19 C 20 D

21 C 22 C 23 B 24 B 25 A

26 C 27 B 28 D 29 C 30 A

31 D 32 D 33 A 34 D 35 C

36 B 37 D 38 D 39 C 40 C

41 D 42 D 43 D 44 D 45 B

46 A 47 A 48 D 49 A 50 C

51 D 52 C 53 D 54 A 55 C

56 A 57 B 58 C 59 C 60 A

61 D 62 B

Answer Key
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Solution
26. (c)

V2

1

V1
2

10A

V1

B

4
5A

4

Let V
1
 and V

2
 be the voltage at node A and node B

respectively. Applying Nodal analysis at A and B,

we get

At node A

10 = 1 2 1V V V

2 1




V
1
 – V

2
 + 2V

1
= 20

         3V
1
 – V

2
 = 20 …(1)

at node B

1 2V V

2


= 2 2V V

5
4 4
 

2V(V
1
 – V

2
) = V

2
 + 20 + V

2

2V
1
 – 4V

2
= 20 …(2)

On solving equation (1) and equation (2), we get

V
1

= 6 Volt

27. (b)

V = 100 + 25sin3wt + 10sin5wt

The effective value of voltage is,

V
eff

 = V
max

 =

2 2

2 25 10
(100)

2 2

   
       

28. (d)

Power P indicated by the wattmeter = Average

power

= V
rms

.I
rms

 cos V & i)

 V
rms

=
100

Volt
2

I
rms

=
10

A
2

and V & i)= 30°

P
avg

=
100 10

cos30
2 2
 

= 433.012 Watt

31. (d)

The rotor of the synchronous motor always rotates

at synchronous speed.

i.e., N
r
= N

s

%s =
s r

s

N N
100 0%

N


 

32. (d)

33. (a)

For induction motor, slip should exist but it should be

as much low as possible because rotor copper loss

is directly proportional to slip (S)

RCL S

So, value of slip is between 1 to 3%

N
s
=

120 f

P



=
120 50

4



= 1500 rpm

1485 rpm is nearer to synchronous speed

34. (d)

Maximum torque is given as

T
max

=
2
2

s 2

E3
.
2X

Since s = 1

 E
2
 V

 T
max
 V2

  f

 T
max

 depends on 'f ' and therefore
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 T
max


1

f
[ T

max


2

1

X ]

35. (c)

Taking power factor,

cos = 0.8

Then,

I
n

=
L

P

3V cos

=
20 746

3 440 0.8


 

= 24.47 A  25 A

36. (b)

N
1

=
1 2

120f

P P
 (Cumulative cascade)

N
2

=
1 2

120f

P P
 (Differential Cascade)

N
3
 =

1

120f

P  and N
4
 =

2

120f

P (Individual speed)

i.e., four different speed can be obtained.

38. (d)

Iron loss = copper loss (P
cu

) = 800 watt

Then, copper loss at half load = cu

1
P

4
 at full load

=
1

800 200 watt
4
 

39. (c)

Standard transmission voltage in India is

11 KV, 33 KV, 66 KV, 132 KV, 220 KV, 400 KV,

765 KV.

i.e., 99kV is not a standard transmission voltage.

40. (c)

As we know that

kVAR

kW
=

1

1

V sin
tan

V cos


 


 cos  = 0.95

  = 18.1948

Reactive power demand in
kVAR

kW

tan = tan 18.1948 =
kVAR

0.3286 0.33
kW



47. (a)

In case of series,

V

I +

–

 T 
se

.I
a

 T
se
 I.I  I2

While in case of parallel,

I
2

I
2
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Q
se
 a

I I
, I

2 2


T
parallel


2I I I

.
2 2 4


 T
parallel

= seT

4

51. (d)

PSM is given as

PSM =
PK

Primary fault current

I C.T. ratio

I
ex

= % setting of Relay × C.T.

Secondary current,

= 0.5 × 5 = 2.5

PSM =
2000

10
2.5 80




54. (a)

0.5A 5A

10V100V

In case of two winding

I
1
=

50
0.5A

100


I
2
=

50
5A

10


When Re-Connected as auto transformer,

110V

100V

5A

0.5A

5.5

Rating of auto transformer would be

= 110 × 5 = 550 VA

55. (c)

Machine Slip region

Inductor motor 0 < s < 1

Inductor generator –1 < s < 0

Inductor motor braking 1 < s < 2



 



ROUGH WORK

 



111


